SAMPLE EXAMINATION PAPER (2007)
HIGH COURT PROCEDURE

QUESTION 1

(a) 
A and B are involved in a motor collision. A suffers serious injuries to his back, and he will have to undergo several operations. A sues B and claims damages. The pleadings are closed and both parties begin to prepare for trial.

The parties need to be informed on how they can present their evidence to the trial court. Discuss the various ways in which evidence can be placed before the trial court. 
(6)

1. Unless special circumstances exist, a witness must give evidence viva voce and in open court – Rule 38(2)
If a person is within the Republic, such a person can be compelled to attend any High Court in the Republic by issuing a subpoena from the office of the Registrar and by having it served on the witness required by the Sheriff – Rule 38(1)

The form and content of the subpoena have to conform to Form 16 of the First Schedule of the Act.
Note that, where a witness is required by a subpoena to make available at the trial a document, instrument or object which is in his possession, or is under his control, such a subpoena is termed a subpoena duces tecum.
2. If a witness cannot give evidence in person, and if the necessary circumstances are present, he may be allowed to give evidence in the following ways :
· on commission (commission de bene esse) – Rule 38(3) to (8)
· by way of interrogatories

· by way of affidavit

(b) 
Abe and Mary were married for four years. They lived in Johannesburg, Gauteng. Abe abandons Mary and goes to work in Botswana. Mary has no contact with Abe, and she decides to divorce him after a year. She only has his last known work address. On the basis of these facts, answer the following questions.

(i) 
What form of service is necessary to serve the summons on Abe? 
(1)

The form of service is edictal citation. Edictal citation is used where the defendant is outside the borders of the Republic, even if his/her whereabouts overseas are known.
(ii) 
What form of service is necessary to serve the summons on Abe if he is at an unknown address in South Africa? 
 (1)

The form of service is substituted service. In the case of substituted service, the defendant is within the borders of the Republic, but his/her exact whereabouts are unknown.

(iii) 
In what way does service ensure that the audi alteram partem maxim is acknowledged? 
(2)

The maxim means that the other party to the litigation must be heard before an order can be granted against such a person. The purpose of service is that this party is given notice that an action is being instituted against him or her. In this way, he or she will be able to defend himself or herself against the action (ie he or she will be heard).
(c) 
Q is a landlord and Z is his tenant. Z is in arrears with his rental. Q issues a summons against Z for the arrear rental and ejectment. With regard to the given facts, determine the procedure that Q would use if Z failed to respond to the summons within the time stated in the summons. 
(5)

Your answer should cover the following: the nature of the claim (debt or liquidated demand); default judgment may be sought without notice to the defendant; the manner in which judgment may be sought; and the registrar’s powers in respect of orders without hearing evidence. SG 12.3.2.1.

(d) 
S and T are involved in a motor collision. S issues summons against T for the damages caused to his vehicle. However, in his particulars of claim S fails to aver that the motor collision was due solely to the negligence of T. T respond by filling a special pleas. Discuss whether the correct pleading was filled     by T.
(5)

T has filed the incorrect pleading. He should have filed the exception instead. A special plea is a means of raising an objection on the basis of certain facts which do not appear in the plaintiff’s declaration or particulars of claim, and has the effect of destroying or postponing the action. An exception attacks the allegations in a pleading, and the pleading is attacked as a whole. No factual allegation outside the pleading may be introduced. In this instance, the averment necessary to establish or disclose a cause of action is omitted. Since this is one of the grounds on which an exception can be raised, T should have filed an exception.
(e) 
X purchases a second-hand vehicle from Y and pays the purchase price of R150 000 by cheque. The cheque is dishonoured by X’s bank. Bear these facts in mind and indicate if the following procedures are correct or not, and give reasons for your answers. Where necessary, indicate the correct procedure.

(i)
Y issues a combined summons against X, since the claim is for a debt or a liquidated demand.
(6)

Although the claim falls within the definition of a “debt or liquidated demand”, it is incorrect to issue a combined summons. 
A combined summons is used when the claim is unliquidated. 
Y should have issued either a simple summons or a provisional-sentence summons since, on the one hand, a claim based on a (dishonoured) cheque is an example of a “debt or liquidated demand” (it is also one of the types of claim on which summary judgment can be given). 
On the other hand, the provisional-sentence-summons procedure is specifically designed to accommodate claims based on liquid documents (eg a cheque).
(ii)
Y issues an appropriate summons. X wishes to defend the matter and serves and files his plea on the merits.
(4)

One does not indicate one’s wish to defend a matter by serving and filing a plea on the merits: a notice of intention to defend is used for this purpose. The latter is only a notice to that effect, and nothing more. Only after this notice (and within the stated dies induciae) is a plea on the merits served and filed, detailing in clear terms the grounds of the defendant’s defence in answer to the plaintiff’s claim.
Note: This is a fairly complex question in the sense that each aspect touched upon in the statements has to be commented on. Therefore, you should read this question carefully, and should you encounter a similar question in the examination, you should make sure that your answer covers all aspects of the question.
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QUESTION 2

(a) 
X and Y are involved in a motor collision in Johannesburg. X suffers damages in the amount of R70 000. X issues summons against Y in the amount of  R70 000. Y intends to defend the action. Y notices that the summons contains insufficient particulars. What steps may Y take to remedy this defect in the summons? 
(2)

Y may make a request for further particulars to X in terms of Rule 16. He may also apply for copies of documents or accounts upon which the action is founded in terms of Rule 15.
(b) 
Pleadings have closed between the parties. The parties now begin to prepare for trial. They need to disclose to each other certain aspects of the evidence which they hope to adduce at the trial.
(i) 
What is the reason for discovery?
(2)

Discovery of documents is important so that parties may prepare for trial and not be taken by surprise. This would prevent unnecessary postponements, delays and costs.
(ii) 
Name any three matters to be considered at a pre-trial conference in terms of section 54.
(3)

· the simplification of the issues
· the necessity or desirability of amendments to the pleadings

· the possibility of obtaining admissions of fact and of documents with a view to avoiding unnecessary proof

· the limitation of the number of expert witnesses
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(c) 
Peter succeeds in his action against John, and the court orders John to pay Peter damages in the amount of R80 000. Despite reminders, John refuses and/or fails to comply with the court judgment. Peter discovers that John owns movable and immovable property. Peter elects to issue a warrant of execution against John’s property. May Peter at will elect to issue a warrant of execution against John’s movable or immovable property? Discuss.
(3)

No. The successful litigant can only enforce the judgment given in his or her favour. 
There is a specific order in which goods may be attached, namely as much movable property as may be necessary to satisfy the judgment given: only then, if these goods are insufficient or on good grounds shown, may immovable property be attached. 
Incorporeal property may also be attached, and certain property is excluded from attachment.
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APPEAL, REVIEW AND VARIATION OF JUDGMENT

QUESTION 3

Z institutes proceedings in a magistrate’s court against X for damages arising out of breach of contract. The magistrate grants judgment against X. X is dissatisfied and takes the matter on appeal.
(a) 
Must X apply for leave to appeal to a High Court? 
(2)

No, X need not apply for leave to appeal as he has one appeal as of right in terms of section 83 of the Magistrates’ Courts Act. The appeal lies to the appropriate provincial or local division of the High Court from the judgment of a magistrate’s court.
(b) 
How many judges must hear the appeal? 
(1)

An appeal from the inferior courts must be heard by at least two judges (s 13(2)(a)(i)).
(c) 
Describe how X must note his or her appeal to a High Court in terms of    Rule 51(3). 
(5)

Rule 51(3) – an appeal may be noted within 20 days after the date of the judgment appealed against or within 20 days after the clerk of the court has so supplied a copy of the written judgment to the party applying therefore, whichever period shall be the longer.
If a party wishes to appeal, he must note the appeal within 20 days of the date of the judgment appealed against, or within 20 days of the Clerk of the court providing a copy of the written judgment, whichever period is the longer. He notes the appeal by delivering a notice, and, unless the court of appeal directs otherwise, by furnishing security for the respondent’s costs of appeal to an amount of R1 000. No security is required from the state.
A notice of appeal must state
· whether the judgment as a whole, or only part thereof, is being appealed against, and if only part, the what part

· the grounds of appeal, specifying the findings of fact or rulings of law appealed against

(d) 
Explain the implications for X if Z abandons part of the judgment granted in his favour. 

(2)

If Z (plaintiff) abandons part of the judgment granted in his or her favour, judgment in respect of the part abandoned is entered for the defendant (X) with costs. Such judgment has the same effect as if it was originally pronounced by the court. Section 86 of the Magistrates’ Courts Act.
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